Center of Population	


The center of population of the United States is that point which may be considered as center of population gravity of the country, or that point upon which the country would balance if it were a rigid plane without weight and the population distributed thereon with each individual being assumed to have equal weight and to exert an influence on a central point proportional to his distance from that point. The 1990 center is 818.6 miles from the 1790 center of population, and 39.5 miles southwest of the 1980 center. 


1.	Plot the distance the center of the US population moved in each decade. During which decade did the center of the US population move the most? the least?


2.	Plot the speed of the center of the US population in inches/hour as a function of time. You will need a good atlas and measuring instruments to do this problem.


3. 	Build a spreadsheet that uses the information in the table below to compute the movement of the US center of population. You can use the following information:





Assume the earth is a perfect sphere with radius 3959 miles.


Consider any two points on the earth,


	A, with latitude qA, and longitude fA, and,


	B, with latitude qB, and longitude fB. 





Now consider two radii drawn from the center of the earth to points A and B. The cosine of the angle between these two radii is given by





		�EMBED Equation.3���





Year	N. Lat.			W. Long.		Approximate location


	°	’	”		°	’	”


1790	39	16	30		76	11	12	23 mi. E of Baltimore, Md.


1800	39	16	6		76	56	30	18 mi. W of Baltimore, Md.


1810	39	11	30		77	37	12	40 mi. NW by W of Washington, D.C. (in Va.)


1820	39	5	42		78	33	0	16 mi. E of Moorefield, W. Va.


1830	38	57	54		79	16	54	19 mi. WSW of Moorefield, W. Va.


1840	39	2	0		80	18	0	16 mi. S of Clarksburg, W. Va.


1850	38	59	0		81	19	0	23 mi. SE of Parkersburg, W. Va.


1860	39	0	24		82	48	48	20 mi. S by E of Chillicothe, Oh.


1870	39	12	0		83	35	42	48 mi. E by N of Cincinnati, Oh.


1880	39	4	8		84	39	40	8 mi. W by S of Cincinnati, Oh. (in Ky.)


1890	39	11	56		85	32	53	20 mi. E of Columbus, Ind.


1900	39	9	36		85	48	54	6 mi. SE of Columbus, Ind.


1910	39	10	12		86	32	20	In the city of Bloomington, Ind.


1920	39	10	21		86	43	15	8 mi. SSE of Spencer, Owen County, Ind.


1930	39	3	45		87	8	6	3 mi. NE of Linton, Greene County, Ind.


1940	38	56	54		87	22	35	2 mi. SE by E of Carlisle, Haddon Township, 										Sullivan Co., Ind.


1950 	38	48	15		88	22	8	3 mi. NE of Louisville, Clay County, Ill.


1960	38	35	58		89	12	35	6 1/2 mi. NW of Centralia, Clinton Co., Ill.


1970	38	27	47		89	42	22	5 mi. ESE of Mascoutah, St. Clair County, Ill.


1980	38	8	13		90	34	26	1/4 mi. W of De Soto, Jefferson Co., Mo.


1990	37	52	20		91	12	55	9.7 mi. NW of Steelville, Mo.�
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�The World Almanac and Book of Facts, (Pharos Books, 1990), Microsoft Bookshelf 1992, s.v. “U.S. Center of Population, 1790-1990.”








